	 :t: Rollins Road Sidewalk n: 15-00999-20-SW 	Summary of Bids Receiv	ed			
Descriptio CPMS Pi	n: 15-00999-20-5W n: Sidewalk on Rollins Rd and Ce n: B-00996 e: 4/17/2018	edar Lake Rd				
Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng Estimate
A Lamp Concrete Contractors, Inc.	1900 Wright Blvd	Schaumburg, IL 60193	Bid Bond	\$168,680.39	-12.60%	-\$24,317.8
Copenhaver Construction Schroeder & Schroeder Inc.	75 Koppie Dr. 7306 Central Park	Gilberts, IL 60136 Skokie, IL 60076	Bid Bond Bid Bond	\$201,148.50 \$215,070.02	4.22% 11.44%	\$8,150.3 \$22,071.8
Alliance Contractors, Inc.	1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$232,406.15	20.42%	\$22,071.
Norvilla, LLC	2701 S. 13th Avenue	Broadview, IL 60155	Bid Bond	\$244,976.90	26.93%	\$51,978.7
Engineer's Estimate				\$192,998.20		
Design	IDOT(2)	Contract Bidder	S	ES then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	N	Agr Capital Program	nming	

×	LakeCounty Division of Transportation
31	Division of Transportation

Return Bid Tabulation

 Project:
 Rollins Road Sidewalk

 Section:
 15-00999-20-SW

 Description:
 Sidewalk on Rollins Rd and Cedar Lake Rd

 CPMS Pin:
 B-00996

 Let Date:
 3/27/2018

Pay Code Description Quantity Unit Schroeder & Schroeder Inc. Item No. Eng Estimate Alliance Contractors, Inc. **Copenhaver Construction** A Lamp Concrete Contractors, Inc Norvilla, LLC Unit Price Extnd. Price Unit Price Unit Price Extnd. Price Extnd. Price Unit Price Extnd. Price Unit Price Extnd. Price Unit Price Extnd. Price \$0.01 \$2,500.00 \$5,500.00 20101700 SUPPLEMENTAL WATERING 50.0 UNIT \$10.00 \$500.00 \$0.10 \$5.00 \$0.50 \$0.10 \$5.00 \$50.00 \$110.00 1 2 20200100 EARTH EXCAVATION 284.0 CU YD \$60.00 \$17,040.00 \$17.95 \$5,097.80 \$33.00 \$9,372.00 \$45.00 \$12,780.00 \$35.00 \$9,940.00 \$47.90 \$13,603.60 28000305 TEMPORARY DITCH CHECKS 14.0 FOOT \$22.00 \$308.00 \$20.00 \$280.00 \$20.00 \$280.00 \$20.00 \$280.00 \$125.00 \$1,750.00 \$22.00 \$308.0 3 4 28000510 INLET FILTERS 7.0 EACH \$29.60 \$207.20 \$25.00 \$175.00 \$20.00 \$140.00 \$10.00 \$70.00 \$175.00 \$1,225.00 \$275.00 \$1,925.00 5 35101800 AGGREGATE BASE COURSE, TYPE B 6" 1,175.0 SQ YD \$17.00 \$19,975.00 \$7.85 \$9,223.75 \$9.00 \$10,575.00 \$10.00 \$11,750.00 \$7.50 \$8,812.50 \$13.15 \$15,451.2 42001300 PROTECTIVE COAT \$3,594.00 \$0.01 \$11.98 \$0.01 \$1.50 \$1,797.00 \$1,856.90 6 1,198.0 SQ YD \$3.00 \$1.00 \$1,198.00 \$11.98 \$1.55 42400200 PORTLAND CEMENT CONCRETE SIDEWALK5 7 9,964.0 SQ FT \$8.00 \$79,712.00 \$10.95 \$109,105.80 \$7.00 \$69,748.00 \$5.45 \$54,303.80 \$8.00 \$79,712.00 \$10.90 \$108,607.60 INCH 42400800 DETECTABLE WARNINGS 92.0 SQ FT \$40.00 \$3,680.00 \$28.00 \$2,576.00 \$29.00 \$2,668.00 \$30.00 \$2,760.00 \$40.00 \$3,680.00 \$31.00 \$2,852.00 8 9 44000500 COMBINATION CURB AND GUTTER REMOVAL 138.0 FOOT \$10.00 \$1,380.00 \$20.00 \$2,760.00 \$8.00 \$1,104.00 \$6.00 \$828.00 \$5.00 \$690.00 \$17.90 \$2,470.20 10 44000600 SIDEWALK REMOVAL 367.0 SQ FT \$4.00 \$1,468.00 \$5.00 \$1,835.00 \$2.00 \$734.00 \$2.00 \$734.00 \$2.00 \$734.00 \$3.00 \$1,101.00 1.193.0 SQ YD \$3.00 \$3,579.00 \$10.85 \$12.944.05 \$15.00 \$17,895.00 \$10.00 \$11,930.00 \$12.00 \$14.316.00 \$10.60 \$12,645.8 11 44004250 PAVED SHOULDER REMOVAL 10.0 SQ YD \$50.00 \$500.00 \$45.00 \$450.00 \$130.00 \$1,300.00 \$100.00 \$1,000.00 \$1,750.00 \$1,950.00 12 44201761 CLASS D PATCHES, TYPE I, 10 INCH \$175.00 \$195.00 13 56400800 FIRE HYDRANT AND VALVE TO BE MOVED 1.0 EACH \$3,000.00 \$3,000.00 \$5,400.00 \$5,400.00 \$2,500.00 \$2,500.00 \$2,000.00 \$2,000.00 \$7,500.00 \$7,500.00 \$7,300.00 \$7,300.00 14 60300105 FRAMES AND GRATES TO BE ADJUSTED 5.0 EACH \$500.00 \$2,500.00 \$225.00 \$1,125.00 \$650.00 \$3,250.00 \$400.00 \$2,000.00 \$450.00 \$2,250.00 \$458.00 \$2,290.00 60600605 CONCRETE CURB, TYPE B 24.0 FOOT \$20.00 \$480.00 \$45.00 \$1.080.00 \$30.00 \$720.00 \$40.00 \$960.00 \$35.00 \$840.00 \$31.00 \$744.00 15 COMBINATION CONCRETE CURB AND \$5,244.00 16 60603900 GUTTER, TYPE B-6.12 138.0 FOOT \$25.00 \$3,450.00 \$45.00 \$6,210.00 \$24.00 \$3,312.00 \$40.00 \$5,520.00 \$55.00 \$7,590.00 \$38.00 (ABUTTING EXISTING PAVEMENT) **TEMPORARY PAVEMENT MARKING** 70300230 100.0 FOOT \$1.00 \$100.00 \$1.00 \$100.00 \$3.00 \$300.00 \$0.01 \$1.00 \$5.00 \$500.00 \$1,000.00 17 \$10.00 - LINE 5" TEMPORARY PAVEMENT MARKING 18 70300260 90.0 FOOT \$1.00 \$90.00 \$2.25 \$202.50 \$4.00 \$360.00 \$0.01 \$0.90 \$8.00 \$720.00 \$10.00 \$900.00 - LINE 12" **TEMPORARY PAVEMENT MARKING** 70300280 17.0 FOOT \$1.00 \$17.00 \$4.50 \$76.50 \$20.00 \$340.00 \$0.01 \$0.17 \$15.00 \$255.00 \$21.00 \$357.00 19 - LINE 24"

LakeCounty Division of Transportation

Return Bid Tabulation

 Project:
 Rollins Road Sidewalk

 Section:
 15-00999-20-SW

 Description:
 Sidewalk on Rollins Rd and Cedar Lake Rd

 CPMS Pin:
 B-00996

Let Date: 3/27/2018

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Alliance Conti	ractors, Inc.	Copenhaver C	Construction	A Lamp Concrete Contractors, Inc.		Inc. Schroeder & Schroeder Inc.		Norvill	la, LLC
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Unit Price Extnd. Price		Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
20	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	100.0	FOOT	\$1.00	\$100.00	\$7.39	\$739.00	\$9.00	\$900.00	\$10.93	\$1,093.00	\$7.39	\$739.00	\$10.00	\$1,000.00
21	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	90.0	FOOT	\$2.00	\$180.00	\$17.73	\$1,595.70	\$19.00	\$1,710.00	\$20.70	\$1,863.00	\$17.73	\$1,595.70	\$23.75	\$2,137.50
22	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	17.0	FOOT	\$4.00	\$68.00	\$35.46	\$602.82	\$40.00	\$680.00	\$33.92	\$576.64	\$35.46	\$602.82	\$47.85	\$813.45
23	1 C200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	10,248.0	UNIT	\$1.00	\$10,248.00	\$1.00	\$10,248.00	\$1.00	\$10,248.00	\$1.00	\$10,248.00	\$1.00	\$10,248.00	\$1.00	\$10,248.00
24	X0327979	PAVEMENT MARKING REMOVAL – GRINDING	90.0	SQ FT	\$2.00	\$180.00	\$3.00	\$270.00	\$15.00	\$1,350.00	\$0.01	\$0.90	\$10.00	\$900.00	\$2.70	\$243.00
25	X2800500	INLET PROTECTION, SPECIAL	1.0	EACH	\$200.00	\$200.00	\$500.00	\$500.00	\$150.00	\$150.00	\$150.00	\$150.00	\$250.00	\$250.00	\$214.00	\$214.00
26	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$6,912.00	\$6,912.00	\$14,560.00	\$14,560.00	\$24,000.00	\$24,000.00	\$22,800.00	\$22,800.00	\$12,750.00	\$12,750.00	\$13,000.00	\$13,000.00
27	X8140115	HANDHOLE TO BE ADJUSTED	4.0	EACH	\$1,500.00	\$6,000.00	\$3,670.00	\$14,680.00	\$750.00	\$3,000.00	\$500.00	\$2,000.00	\$1,250.00	\$5,000.00	\$975.00	\$3,900.00
28	XX006344	SODDING (COMPLETE)	1,459.0	SQ YD	\$15.00	\$21,885.00	\$14.75	\$21,520.25	\$12.00	\$17,508.00	\$15.00	\$21,885.00	\$18.00	\$26,262.00	\$16.40	\$23,927.60
29	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	1,129.0	FOOT	\$5.00	\$5,645.00	\$8.00	\$9,032.00	\$14.00	\$15,806.00	\$1.00	\$1,129.00	\$9.00	\$10,161.00	\$3.00	\$3,387.00
	Bid Total				\$192,998.20		\$232,406.15		\$201,148.50		\$168,680.39		\$215,070.02		\$244,976.90	

貒	LakeC(Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:		Return	Bid Deta	iils				
					Eng Est	imate			
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1		SUPPLEMENTAL WATERING	50.0	UNIT	\$10.00	\$500.00	\$0.01	\$110.00	\$32.04
2		EARTH EXCAVATION	284.0	CU YD	\$60.00	\$17,040.00	\$17.95		\$35.77
3		TEMPORARY DITCH CHECKS	14.0	FOOT EACH	\$22.00	\$308.00	\$20.00		\$41.40
4		INLET FILTERS AGGREGATE BASE COURSE, TYPE B 6"	7.0 1,175.0	SQ YD	\$29.60 \$17.00	\$207.20 \$19,975.00	\$10.00 \$7.50	·	\$101.00 <mark>\$9.50</mark>
6		PROTECTIVE COAT	1,198.0	SQ YD	\$3.00	\$19,975.00	\$0.01		\$9.50 \$0.81
7	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	9,964.0	SQ FT	\$8.00	\$79,712.00	\$5.45		\$8.46
8	42400800	DETECTABLE WARNINGS	92.0	SQ FT	\$40.00	\$3,680.00	\$28.00	\$40.00	\$31.60
9	44000500	COMBINATION CURB AND GUTTER REMOVAL	138.0	FOOT	\$10.00	\$1,380.00	\$5.00	\$20.00	\$11.38
10	44000600	SIDEWALK REMOVAL	367.0	SQ FT	\$4.00	\$1,468.00	\$2.00	\$5.00	\$2.80
11	44004250	PAVED SHOULDER REMOVAL	1,193.0	SQ YD	\$3.00	\$3,579.00	\$10.00	\$15.00	\$11.69
12	44201761	CLASS D PATCHES, TYPE I, 10 INCH	10.0	SQ YD	\$50.00	\$500.00	\$45.00	\$195.00	\$129.00
13	56400800	FIRE HYDRANT AND VALVE TO BE MOVED	1.0	EACH	\$3,000.00	\$3,000.00	\$2,000.00	\$7,500.00	\$4,940.00

業	LakeC(Division of	Ounty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:		Return	Bid Deta	ils				
					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
14	60300105	FRAMES AND GRATES TO BE ADJUSTED	5.0	EACH	\$500.00	\$2,500.00	\$225.00	\$650.00	\$436.60
15	60600605	CONCRETE CURB, TYPE B	24.0	FOOT	\$20.00	\$480.00	\$30.00	\$45.00	\$36.20
16	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	138.0	FOOT	\$25.00	\$3,450.00	\$24.00	\$55.00	\$40.40
17	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	100.0	FOOT	\$1.00	\$100.00	\$0.01	\$10.00	\$3.80
18	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	90.0	FOOT	\$1.00	\$90.00	\$0.01	\$10.00	\$4.85
19	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	17.0	FOOT	\$1.00	\$17.00	\$0.01	\$21.00	\$12.10
20	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	100.0	FOOT	\$1.00	\$100.00	\$7.39	\$10.93	\$8.94
21	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	90.0	FOOT	\$2.00	\$180.00	\$17.73	\$23.75	\$19.78

業	LakeCo Division of	Dunty Transportation							
	Section:		Return	Bid Deta	iils				
					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
22	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	17.0	FOOT	\$4.00	\$68.00	\$33.92	\$47.85	\$38.54
23	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	10,248.0	UNIT	\$1.00	\$10,248.00	\$1.00	\$1.00	\$1.00
24	X0327979	PAVEMENT MARKING REMOVAL – GRINDING	90.0	SQ FT	\$2.00	\$180.00	\$0.01	\$15.00	\$6.14
25	X2800500	INLET PROTECTION, SPECIAL	1.0	EACH	\$200.00	\$200.00	\$150.00	\$500.00	\$252.80
26	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$6,912.00	\$6,912.00	\$12,750.00	\$24,000.00	\$17,422.00
27	X8140115	HANDHOLE TO BE ADJUSTED	4.0	EACH	\$1,500.00	\$6,000.00	\$500.00	\$3,670.00	\$1,429.00
28	XX006344	SODDING (COMPLETE)	1,459.0	SQ YD	\$15.00	\$21,885.00	\$12.00	\$18.00	\$15.23
29	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	1,129.0	FOOT	\$5.00	\$5,645.00	\$1.00	\$14.00	\$7.00
		Bid Total				\$192,998.20			